
MAT 46 – Série de Exerćıcios 2 Respostas

Exerćıcio 1.

1.1. u = x+1
(x+1)2+y2

, v = −y
(x+1)2+y2

1.2. u = 2x2, v = 2x(y + 1)

1.3. u = x2 − y2 − y, v = 2xy + x

1.4. u = cosx sin y/(sin2 x cos2 y+ cos2 x sin2 y),

v = − sinx cos y/(sin2 x cos2 y + cos2 x sin2 y)

Exerćıcio 2.

2.1. domı́nio C

A função é cont́ınua em C\{z = iy; y ∈ (0,∞)}

2.2. domı́nio C

A função é cont́ınua em

C\{z = r(cosϕ+ i sinϕ); ϕ = π/3, 2π/3, π}

2.3. C\R

2.4. domı́nio C

A função é cont́ınua em C\{z = x; x ∈ (−∞, 0)}

2.5. domı́nio C

A função é cont́ınua em

C\{z = x+ i/2x; x2 > 1/4x2}

2.6. C\{(−1±
√

5)/2}
Exerćıcio 3.

3.1. γ(t) = 1 + 2t+ i(1− t), t ∈ [0, 1], f(γ(t)) = 3t2 + 6t− 4it2 + 2it+ 2i

3.2. γ(t) = (1 + i)t, t ∈ [0,∞), f(γ(t)) = −4t4



3.3. γ(t) = (1 + i)t, t ∈ [0,∞), f(γ(t)) = 0.5
t
− 0.5i

t

3.4. γ(t) = 1 + it, t ∈ [0,∞), f(γ(t)) = 1
1+t2
− it

1+t2



3.5. γ(t) = r(cos t+ i sin t), t ∈ [0, 2π), f(γ(t)) = r−2(cos 2t− i sin 2t)

3.6. γ(t) = r(1 + cos t+ i sin t), t ∈ [0, 2π), f(γ(t)) = 1
2r
− 1

2r
i sin t
1+cos t

Exerćıcio 4.

4.1. **

4.2. **

Exerćıcio 5.

f(z) =
y2

x2
− x2 − y2

y2
i.

5.1. D = {z = x+ iy; x 6= 0, y 6= 0}

5.2. Na fronteira.

5.3. **

5.4. Sim.



Exerćıcio 6.

6.1. |z| 6= 2

6.2. C\{z = iy; y 6= 0}

6.3. C

6.4. C\{z = iy; y ∈ (−∞, 1) ∪ (1,∞)}
Exerćıcio 7.
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